S-C-9-3_Concentrations Worksheet and KEY

Concentrations Worksheet
Name _______________________________________



Date __________

Group Work: You may work in pairs but everyone must SHOW ALL WORK and hand in their own worksheet.
1. What is the percent concentration of each of the following solutions? 

a. 14g of sucrose dissolved in 183g of water
b. 44g of sucrose dissolved in 326g of water
c. A solution of seawater contains 3g of salt in 97g of water. What is the percent concentration?

2. What is the concentration of a sugar water solution that has 10g of sugar in 40g of water?  Express the answer in pph.

3.  What mass, in grams, of sodium sulfate is needed to make 275g of a 1.5% aqueous solution of sodium sulfate?

4.
If an acidic solution made up of water and acetic acid, has a concentration of 35%, how much water must be added to use up 10g of acetic acid?

5.
Arsenic ions are a high risk to aquatic life at a concentration of 1.4%.  If a 1000g sample of this solution concentration is measured, how many grams of arsenic ions are present in the solution?

Independent Work: SHOW ALL WORK
4. What is the concentration, in ppm, of a solution that has 15g of salt dissolved in 80g of water?

5. True or False   
The concentration of a solution that is 25% means that 25g of solute was dissolved in 100g of solvent.

6. True or False
A hot cup of tea will dissolve more sugar than a cold cup of tea, assume the cups are the same size.

7. True or False     
Stirring sugar that is added to tea will increase the amount of sugar that will dissolve.

5.
What is the molarity of a solution prepared by mixing 3.5g of NaCl in 1,500.0mL of water?
Concentrations Worksheet KEY

Group Work:
8. What is the percent concentration of each of the following solutions? 

a. 14g of sucrose dissolved in 183g of water
[image: image1.wmf]%

1

.

7

100

197

14

=

´

g

g


b. 44g of sucrose dissolved in 326g of water
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c. A solution of seawater contains 3g of salt in 97g of water
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9. What is the concentration of a sugar water solution that has 10g of sugar in 40g of water?  Express the answer in pph.

[image: image4.wmf]pph

g

g

20

100

50

10

=

´


10. What mass, in grams, of sodium sulfate is needed to make 275g of a 1.5% aqueous solution of sodium sulfate?
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4.
If an acidic solution made up of water and acetic acid, has a concentration of 35%, how much water must be added to use up 10g of acetic acid?
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5.
Arsenic ions are a high risk to aquatic life at a concentration of 1.4%.  If a 1000g sample of this solution concentration is measured, how many grams of arsenic ions are present in the solution?

Independent Work: 
11. What is the concentration, in ppm, of a solution that has 15g of salt dissolved in 80g of water?
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12. True or False
The concentration of a solution that is 25% means that 25g of solute was dissolved in 100g of solvent.

13. True or False
A hot cup of tea will dissolve more sugar than a cold cup of tea, assume the cups are the same size.

14. True or False
Stirring sugar that is added to tea will increase the amount of sugar that will dissolve.

5.
What is the molarity of a solution prepared by mixing 3.5g of NaCl in 1,500.0mL of water?
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